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N.B.: (1) Question No. 1 is compulsory.

(2) Solve any three questions out of remaining five questions.
(3) Figures to the right indicate full marks.

(4) Use Smith Chart for transmission line problem. %""ff
S B
1. (a) Find the equivalent inductance of the network shown. | {19
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(b) A series R-L circuit is shown in fig. has a cnnstam_;gmﬁage V applied
at t = 0. At what time does V, =V, ~ TR
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(c) For the netwogl: shown plot poles and zeros of the transfer impedance
function. . »
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(d) Determine h parameters of the network given.
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2. (a) Find the current through 6Q resistor in given circuit.
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(b) In the network shown switch is moved’ ﬁﬁ@p‘&nmn | to position 2.

The switch is at position 1 for lmla un\%.ﬁ‘retn:rmme the expression
for the current i(t).
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3. (a) Test wjlethéﬁ‘F (S) = i : is a positive real function.
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(b) Check, Eﬁe whether the following polynomials are Hurwitz or not. Use

ﬁa{fed fraction method. 3
%P{s)~57+23ﬁ+255+s“+453+351+35+4 2
(1) P(s)=s°+ 83 + 3 ' 10

| ) 'Realise caur forms of the following LC impedance function.
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(a) In the network given the switch is changed from positiona tob at 10

=0, Fird out 1, o and g tt=0"
=0.Find out1, - 8 dtza
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(b) The volves of primary constants of an open wire line per kn@re R= I

10Q, L =3.5mH C=0.008 uF and G.= f;'k?pmhﬂ F@namgnal

frequency of 1 KHz. Calculate z,, Y, a, Bﬁu and v, <
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(a) Find the expression for i(t). - o 10
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(b) Design an m'-derived;'fli”‘ section high pass filter with a cut off frequency 5

of 2 KHz. Design impedance of 700Q and m = 0.6.

(c).Theeha. impgﬁﬁnce of a high frequency line is 100Q. It is termjnated 5
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inan impedapce of 100 + 1000, Using Smith chart find the impedance

1 o8
at g th wavelength away from the load end.
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6. (a) Draw and explain transformed network in s domain for given circuits. 5
Use current and voltage equation.
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(b) A series RLC circuit has a quality facfﬂr @F“ S at 5!} rad/sec. TheCurrent 5

flowing through the circuit at resun&ﬁyreis 10A and the sugﬁy voltage
is 100V. Find the circuit c-:mstants g

(¢) For the given nehvork damm 2 and 2 . _{F" 10
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